Rettevejledning. Europe in the World Economy.
1.1 The graph must have  the rate of  growth of GDP per head , say,  1870-1914,in a specific time period on the vertical axis and the initial level of GDP per head at a specific initial year, say, 1870. The linear relationship has a negative slope. See figure 6.2 on p.112 in textbook.

1.2 The verbal interpretation is that a low initial level of GDP per head opens up the advantages of backwardness implying high growth in the coming period. However, it is conditional on a number of institutional characteristics such as openness to trade and investment, good government and education,  the ability to absorb or imitate advanced technology, so called technology catch up, proximity to large growing economies good,  robust banking systems.
1.3 The textbook discusses three distinct  periods. 1870-1913 and the Golden age 1950-75 with the expected negative slope and the Interwar period  with the ‘wrong ‘ slope, see pp.112-1113.
1.4 The non-convergence  in the Inter-war period is  explained by the fact that the crises reduced trade and openness and hence technology transfer. Initially poor countries seem to be more affected by  the lack of economic integration than initially rich which were less dependent on technology transfer, see. p. 114.
1.5 An over-achiever is a nation which is above the regression line in the figures 6.2-6.3. It seems obvious to single out Scandinavian economies as overachievers but other examples can be selected, of course. Whatever the cases chosen the story need to relate to conditions related to the answer to question 1.2. The issue is discussed on p 115-116.
1.6 Figure 6.2 indicates that Britain performed as expected in 1870.1913 but has been an under achiever in the subsequent periods. The reason for this is discussed on pp.118-121 and factors like education, the financial system, dependence on trade to former colonies, industrial relations, slow adaptation to new technologies, low investment ratio should be highlighted.
